
FOTOSYNTESEN 

SOLLYS + 

VAND + 

CARBONDIOXID = 

GLUCOSE + OXYGEN 



FOTOSYNTESEN 
SOLLYS + 

H2O + 

CO2 = 

 

C6H12O6 + O2 



RESPIRATION 

C6H12O6 + O2 = 
 

H2O + 

CO2 + 

ENERGI 

 



H2O = H2O1 

CO2 = C1O2  

C6H12O6 = C6H12O6 

O2 = O2 



H2O = H2O1 

2 HYDROGEN-ATOMER 
1 OXYGEN-ATOM 



O2 

2 OXYGEN-ATOMER 



”Tomt 
batteri” 

”Fyldt 
batteri” 
=ENERGI

=ATP 

https://bioaktivator.systime.dk/index.php?id=638


”Tomt 
batteri” 

”Fyldt 
batteri” = 
ENERGI 

https://www.google.dk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwiZmdiOnYbWAhWEKFAKHUz8BQoQjRwIBw&url=https://bioaktivator.systime.dk/index.php?id=638&psig=AFQjCNGdqoiz46-ndcIrYc53wlqMfhBCRg&ust=1504431976880495


https://www.google.dk/url?sa=i&rct=j&q=&esrc=s&source=images&cd=&cad=rja&uact=8&ved=0ahUKEwiEmMvvoYbWAhUQUlAKHSytC6gQjRwIBw&url=https://www.quora.com/Why-is-cellular-respiration-called-cellular-respiration-if-cells-dont-breathe&psig=AFQjCNE-n4DY6xBfuHaxn0CpYbwBdgVtZA&ust=1504433455318137

